Fall '04/MAT 250/ Worksheet 1 Name:  ~ 5 Show all your work.

1. (Tpis) Investigate the behavior of the function f(x) = (1= :r]-]i when = — (.

a) What appears to be the limit of fizx) when z — 7
b) Use «'s closer and closer to 0 to find the limit accurate to six decimal points. Write the

table of values here.
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2. (8pts) Investigate the behavior of the function f(r) = e ) when r — 0,

a) What appears to be the limit ol f{x} when x — 07

b) Compute the values of f(z) for = 107%,1075,...,10~%. Write the table of values here.
What appears to be the limit now?

¢) Explain why a) and b) apparently give different answers. (Hint: enter 1 +107"% — 1 in
vour caleulator. Is the answer what vou expect? What is happening?)
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